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ÿoˆÁTˆEı YÁPˆy‘] ( B.D.P.) 
◊`l˘Á[˝bÔÁ‹ôˆ YÃ[˝›l˘Á ( Term End Examination ) :  

◊Qˆ„a∂ëˆÃ[˝, 2013 C L«X, 2014 

a]ÁL◊[˝VÓÁ ( Sociology ) 
B◊¨K˜Eı YÁPˆy‘] ( Elective ) 

T ˆTˆ›Ã^ Yy ( 3rd Paper : Sociological Thought ) 
a]Ã^  f ªJÙÁÃ[˝ H∞RÙOÁ Y…SÔ]ÁX  f 100 
Time : 4 Hours Full Marks : 100 

( ]Á„XÃ[˝ mÃ[˝”±ºˆ  f 70% ) 
( Weightage of Marks : 70% ) 

Y◊Ã[˝◊]Tˆ C ^UÁ^U =w¯„Ã[˝Ã[˝ LXÓ ◊[˝„`b ]…_Ó ÂVCÃ^Á c˜„[˝* 
%£à˘ [˝ÁXÁX, %Y◊Ã[˝¨K˜~TˆÁ A[˝e %Y◊Ã[˝õıÁÃ[˝ c˜ÿôˆÁl˘„Ã[˝Ã[˝ Âl˘‰y X∂ëˆÃ[˝ 

ÂEı‰ªRÙO ÂXCÃ^Á c˜„[˝* =YÁ„‹ôˆ Y“‰`¬Ã[˝ ]…_Ó]ÁX a…◊ªJÙTˆ %Á‰ªK˜* 
Special credit will be given for accuracy and relevance 

in the answer. Marks will be deducted for incorrect 
spelling, untidy work and illegible handwriting. 

The weightage for each question has been 
indicated in the margin. 

 

1* Â^-ÂEıÁ„XÁ V«'◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX  f 20 × 2 = 40 

 (Eı) %GÁrÙ ÂEgıÁ„TˆÃ[˝ ◊≈yÿôˆÃ[˝ W˝ÁÃ[˝SÁ◊ªRÙO %Á„_ÁªJÙXÁ EıÃ[˝”X* 

 (F) ]Á„jÔÃ[˝ Ê`“S› C Ê`“S› aeG–Á„]Ã[˝ Tˆ√º¯◊ªRÙO [˝ÓÁFÓÁ EıÃ[˝”X* 

 (G) A◊]_ Q«ˆ„FÔc˜O„]Ã[˝ `“]◊[˝\ˆÁLX Tˆ√º¯◊ªRÙO %Á„_ÁªJÙXÁ EıÃ[˝”X* 

 (H) %Á]_ÁTˆ‹óˆ a+„EÔı ]ÓÁj C„Ã^[˝Á„Ã[˝Ã[˝ W˝ÁÃ[˝SÁ◊ªRÙO 

%Á„_ÁªJÙXÁ EıÃ[˝”X* 

2* Â^-ÂEıÁ„XÁ ◊TˆX◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 12 × 3 = 36 
(Eı) Â&XaÁ„Ã[˝Ã[˝ ÈL◊[˝Eı aÁV `Ó[˝Á„VÃ[˝ W˝ÁÃ[˝SÁ◊ªRÙO [˝ÓÁFÓÁ 

EıÃ[˝”X* 
(F) Q«ˆ„FÔc˜O„]Ã[˝ aÁ]Á◊LEı [˝ÿô«ˆa„TˆÓÃ[˝ W˝ÁÃ[˝SÁ◊ªRÙOÃ[˝ [˝ÓÁFÓÁ ◊VX* 
(G) C„Ã^[˝Á„Ã[˝Ã[˝ %ÁV`ÔÃ[˝÷Y (Ideal Type) W˝ÁÃ[˝SÁ◊ªRÙOÃ[˝ =YÃ[˝ 

AEı◊ªRÙO ªRÙO›EıÁ ◊_F«X* 
(H) E«ı„_Ã[˝ %Á±¡VYÔS (Looking glass self) W˝ÁÃ[˝SÁ◊ªRÙO 

Y^ÔÁ„_ÁªJÙXÁ EıÃ[˝”X* 
(I¯) EıÁ_Ô ]ÓÁXc˜Ác˜O]-AÃ[˝ p˚ÁX a]ÁLTˆ√º¯ (Sociology of 

knowledge)-AÃ[˝ W˝ÁÃ[˝SÁ◊ªRÙO Y^ÔÁ„_ÁªJÙXÁ EıÃ[˝”X* 
(ªªJÙ˜) ªRÙOÓÁ_EıªRÙO YÁÃ[˝aXÀa-AÃ[˝ a]ÁL [˝Ó[˝ÿöˆÁ (Social 

System) Tˆ√º¯◊ªRÙO %Á„_ÁªJÙXÁ EıÃ[˝”X* 
3* Â^-ÂEıÁ„XÁ ªJÙÁÃ[˝◊ªªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 6 × 4 = 24 

(Eı) V rÙ[˝ÁV ◊Eı ? 
(F) %GÁrÙ ÂEgıÁTˆ ◊Eı\ˆÁ„[˝ ◊[˝p˚ÁXm„_ÁÃ[˝ y‘]Y^ÔÁÃ^ 

Eı„Ã[˝‰ªK˜X ? 
(G) Â&XaÁÃ[˝ aÁ]Á◊LEı ◊[˝[˝Tˆ¤X [˝_„Tˆ ◊Eı [˝«◊Mı„Ã^‰ªK˜X ? 
(H) %ÁX«úˆÁ◊XEı a]ÁLTˆ√º¯ [˝_„Tˆ ◊a„]_ ◊Eı [˝«◊Mı„Ã^‰ªK˜X ? 
(I¯) %„^Ï◊N˛Eı ◊y‘Ã^Á a+„EÔı YÓÁ„Ã[˝‰ªRÙOÁÃ[˝ W˝ÁÃ[˝SÁ◊ªRÙO 

Y^ÔÁ„_ÁªJÙXÁ EıÃ[˝”X* 
(ªJÙ) ◊a. Ã[˝Ác˜OªRÙO ◊]_aÀ "a]ÁLTˆÁ◊√º¯Eı EıîXÁ' [˝_„Tˆ Eı› 

[˝«◊Mı„Ã^‰ªK˜X ? 
(ªK˜) ◊[˝„[˝EıÁX„≥VÃ[˝ a]ÁL ◊[˝‰`¿bS Yà˘◊Tˆ◊ªRÙO %Á„_ÁªJÙXÁ 

EıÃ[˝”X* 
(L) Ã[˝[˝›≥V–XÁU a]ÁL C [˝Ó◊N˛±ºˆ„Eı Eı›\ˆÁ„[˝ [˝ÓÁFÓÁ 

Eı„Ã[˝‰ªK˜X ? 
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1. Answer any two questions : 20 × 2 = 40 

(a) Examine Auguste Comte's views on the law 

of three stages. 

(b) Explain Marx's views on the theory of class 

and class struggle. 

(c) Discuss Emile Durkheim's views on the 

theory of the Division of Labour.   

(d) Write a note on Max Weber's views on 

bureaucracy. 

2. Answer any three questions  : 12 × 3 = 36 

(a) Explain Spencer's views on organic analogy. 

(b) Explain Emile Durkheim's views on social 

fact.  

(c) Write a brief note on Weber's views on Ideal 

Type. 

(d) Examine Cooley's concept of Looking glass 

self. 

(e) Examine Karl Manheim's view on Sociology 

of Knowledge. 

(f) Discuss Talcott Parson's Social System 

theory. 

3. Answer any four questions  : 6 × 4 = 24 

(a) What is Positivism ? 

(b) How did Comte make hierarchy of   

sciences ? 

(c) What does Spencer mean by social 

evolution ? 

(d) What does Simmel mean by formal 

sociology ? 

(e) Examine Pareto's views on non-logical 

action. 

(f) What does C. Wright Mills mean by 

sociological imagination ? 

(g) Explain Vivekananda's view on methods of 

social analysis. 

(h) How does Rabindranath explain society and 

personality ? 

    


